G5-M2-Lesson 8

1. Estimate the products first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

3. 795x248 { could have rounded 248 to 250 in order to have an
= 800 < 200 estimate that is closer to the actual product. Another
= 160,000 reasonable estimate is 800 x 250 = 200,000.

7 95

X 2 48 ﬁ 8 x 5 = 40, which | record as 4 tens Oones. 8 X 9tens =72 tens
. i

plus 4 tens, makes 76 tens. | record 76 tens as 7 hundreds 6 tens.

6 3 6 0
-
3 1 g’ g 0
A X This product is reasonable because 197,160 is close to
+ 1 ? 9 80 160,000. My other estimate is also reasonable because
1 6 7 1 6 0 197,000 is very close to 200,000.

3

b. 4,308 x 505
~ 4,000 x 500

hundreds is 20 hundred thousands. That's the same as 2 million.
[f1 just count zeros | might get awrong estimate.

4i have to be careful to estimate accurately. 4 thousands X 5

= 2,000,000
4 3 0 8
X . 5 g 5 "J’\ This partial product is the result of 5 x 4,308. J
2 15 4 0 '
=4 A

+ 215 4000
sense that it is 100 times greater than the first partial product.

{ This partial product is the result of 500 X 4,308. ltmakes

2,17 55 40

2. When multiplying 809 times 528, Isaac got a product of 42,715. Without calculating, does his product
seem reasonable? Explain your thinking.

tsaac’s product of about 40 thousands is not | think 1saac rounded 809 to 800 and 528
regsonable. A correct estimoteis 8 hundreds to 500. Then, | thirk he multiplied 8 times
times 5 hundreds, which is 40 ten thousonds. 5 to get 40. From there, | think he

That's the same os 400, 000 not 40, 000. miscounted the zeros.

14 Lesson 8: Fluently multiply multi-digit whaole numbers using the standard algorither Eu“x A
and using estimation to check for reasonableness of the product, M ATH‘"
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